56 — How much food is produced and not consumed?
a) 1/5
b) 1/6
c) 2/3
d) 1/3

Answer —d) 1/3

58- How much water is needed per day to produce the food
consumed per person?

a) 2000 to 5000L

b) 100 to 200L

c) 5000 to 6000L

d) 500 to 1000L

Answer — a) 2000 to 5000L

57 - 263 million tons of meat are produced annually in the world.
What percentage of this meat is wasted or lost?

a) 10%

b) 45,3%

c) 20%

d) 5%

Answer — ¢) 20%

59- How many hectares of forest were lost between 1990 and 2015?

a) 12000
b) 50 millions
c) 50000
d) 129 millions

Answer — d) 129 millions




60 — How many litres of water is spent per day on agricultural
production?

a) 2,9 billions

b) 7,4 trillions

c) 100 millions

d) 12,6 millions

Answer — b) 7,4 trillions

61- Over the past 30 years, the thickness of the Arctic has
decreased:

a) 10%

b) 0%

c) 40%

d) 0,2%

Answer — c) 40%

62 — Which country has the most CO2 emissions?
a) China
b) United States of America
c) Portugal
d) Russia

Answer — a) China

63- How many hectares of forest were lost between 1990 and 2015?

e) 12000
f) 50 millions
g) 50000
h) 129 millions

Answer — d) 129 millions




